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B FaH B O# A#BEREUBEK % &
2= 30|  108,000|  36x 30
3= 04| 338,400  36x 94
2 8| 28.800| 36x 8
BE= 2 7,200  36x 2
SE= i 3,600  36x 1

- 9 32, 400 36x 9

= 8 28, 800 36x 8

Iy 6 21, 600 36x 6
BEOZ 2 1,200 36x 2
EO= 6 21, 600 36x 6
B 2 1,200 36x 2
Bz 9 32, 400 36x 9
=2t 17 61, 200 36x 17
B— 24 86, 400 36x 24
B= 33 118, 800 36x 33
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F & A W # A#EUEHK e &
B= 2 1, 200 36x 2
BRk= 18 64, 800 36x 18
BC(= 5 18, 000 36x 5
BO— 1 3, 600 36x 1
BOZ 30 108, 000 36x 30
BO= 12 43, 200 36x 12

I BRI— 3 10, 800 36x 3
BHIZ 1 3, 600 36x 1
Bil= 1 3, 600 36x 1
<OZ 20 93, 600 36x 26
CO= 29 104, 400 36x 29
COMm 9 32,400 36x 9
O— 10 36, 000 36x 10
o= 10 252,000 36x 70
O= 36 129, 600 36x 36
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F— 21 75, 600 36x 21

¥z 22 79, 200 36x 22

F= 17 61, 200 36x 17

F I 7 25, 200 36x 7

p— 1 3, 600 36x 1

vz 3 10, 800 36x 3

X F— 1 3, 600 36x 1

YF= 1 3, 600 36x 1

c— 7 25, 200 36x 7

c= 39| 140, 400 36x 39

c= 11 39, 600 36x 11

C o 1 39, 600 36x 11

CE= 4 14, 400 36x 4

co= 19 68, 400 36x 19

CO= 74| 266, 400 36x 74
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cOom 13 46, 800 36x 13

CC= 13 46, 800 36x 13

A= 3 10, 800 36x 3

A= 2 7,200 36x 2

MEZ 8 28, 800 36x 8

Al < — 11 39, 600 36x 11

A<= 17 61, 200 36x 17

MO 21 75, 600 36x 21

AO= 14 50, 400 36x 14

HOm 12 43, 200 36x 12
& &t 856 | 3,081,600 K#|( 856)
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